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CALCUL MENTAL

OBJECTIF : Calculer des expressions comportant des parenthèses.

9 - (7 x 1) =  ..... (7 + 1) - 4 =  ..... (5 + 8) - 2 =  ..... (4 - 1) - 1 =  .....

8 - (6 - 2) =  ..... (7 x 7) + 1 =  ..... 3 + (3 x 4) =  ..... (5 x 7) + 8 =  .....

(3 + 3) x 3 =  ..... (9 - 7) x 7 =  ..... (3 + 1) x 7 =  ..... 7 x (3 + 2) =  .....

(9 - 3) x 4 =  ..... (8 x 7) + 6 =  ..... 6 x (8 - 7) =  ..... 5 x (8 - 6) =  .....

(2 + 7) x 8 =  ..... (7 + 5) - 5 =  ..... (7 x 1) + 3 =  ..... 4 x (5 + 2) =  .....

(7 + 9) - 9 =  ..... (8 + 6) - 8 =  ..... (9 - 1) - 1 =  ..... 8 - (7 - 2) =  .....

(3 x 1) - 2 =  ..... (6 x 5) + 7 =  ..... (1 x 8) - 4 =  ..... (5 - 1) x 7 =  .....

(9 + 9) - 5 =  ..... 6 x (8 - 3) =  ..... 5 x (3 + 2) =  ..... (7 + 7) - 6 =  .....

(1 x 3) + 2 =  ..... (4 x 1) + 5 =  ..... (8 x 3) + 2 =  ..... (8 x 4) - 3 =  .....

3 + (4 x 5) =  ..... 2 + (3 x 2) =  ..... 6 x (9 - 4) =  ..... (8 + 6) - 7 =  .....
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C O R R E C T I O N

CALCUL MENTAL

OBJECTIF : Calculer des expressions comportant des parenthèses.

9 - (7 x 1) =  2 (7 + 1) - 4 =  4 (5 + 8) - 2 =  11 (4 - 1) - 1 =  2

8 - (6 - 2) =  4 (7 x 7) + 1 =  50 3 + (3 x 4) =  15 (5 x 7) + 8 =  43

(3 + 3) x 3 =  18 (9 - 7) x 7 =  14 (3 + 1) x 7 =  28 7 x (3 + 2) =  35

(9 - 3) x 4 =  24 (8 x 7) + 6 =  62 6 x (8 - 7) =  6 5 x (8 - 6) =  10

(2 + 7) x 8 =  72 (7 + 5) - 5 =  7 (7 x 1) + 3 =  10 4 x (5 + 2) =  28

(7 + 9) - 9 =  7 (8 + 6) - 8 =  6 (9 - 1) - 1 =  7 8 - (7 - 2) =  3

(3 x 1) - 2 =  1 (6 x 5) + 7 =  37 (1 x 8) - 4 =  4 (5 - 1) x 7 =  28

(9 + 9) - 5 =  13 6 x (8 - 3) =  30 5 x (3 + 2) =  25 (7 + 7) - 6 =  8

(1 x 3) + 2 =  5 (4 x 1) + 5 =  9 (8 x 3) + 2 =  26 (8 x 4) - 3 =  29

3 + (4 x 5) =  23 2 + (3 x 2) =  8 6 x (9 - 4) =  30 (8 + 6) - 7 =  7
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